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INSTRUCTIONS TO STUDENTS

e Before entering the lab, the student should carry the following things
(MANDATORY)

1. ldentity card issued by the college.
2. Class notes
3. Lab observation book
4. Lab Manual
5. Lab Record
¢ Student must sign in and sign out in the register provided when attending the
lab session without fail.
e Come to the laboratory in time. Students, who are late more than 10 min., will
not be allowed to attend the lab.
e Students need to maintain 80% attendance in lab if not a strict action will be
taken.
e All students must follow a Dress Code while in the laboratory.
e Foods, drinks are NOT allowed.
o All bags must be left at the indicated place.
e Refer to the lab staff if you need any help in using the lab.
¢ Respect the laboratory and its other users.
¢ \Workspace must be kept clean and tidy after experiment is completed.
¢ Read the Manual carefully before coming to the laboratory and be sure about
what you are supposed to do.
¢ Do the experiments as per the instructions given in the manual.
e Copy all the programs to observation which are taught in class before
attending the lab session.
e Students are not supposed to use floppy disks, pen drives without permission
of lab- in charge.
e Lab records need to be submitted on or before the date of submission.
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Experiment No

1. Verification of Gates

2. Half/Full Adder/Subtractor

3. Parallel Adder/Subtractor

4. Excess-3 to BCD & Vice Versa

5. Binary-Grey & Grey-Binary Converter
6. MUX/DEMUX

7. MUX/DEMUX using only NAND Gates
8. Comparators

9. Encoder/Decoder

10. Flip-Flops

11. Counters

12.  Shift Registers

13.  Johnson/Ring Counters

14. Sequence Generator

15.  Multivibrators
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Experiment No: Date: [/ /

VERIFICATION OF GATES

Aim: - To study and verify the truth table of logic gates

Apparatus Required: -

All the basic gates mention in the fig.

Procedure: -

1 Place the IC-on-IC Trainer Kit.

2 Connect Vcc and ground to respective pins of IC Trainer Kit.

3 Connect the inputs to the input switches provided in the IC Trainer
Kit.

4  Connect the outputs to the switches of O/P LEDs,

5 Apply various combinations of inputs according to the truth table
and observe condition of LEDs.

6 Disconnect output from the LEDs and note down the
corresponding multimetervoltage readings for various

combinations of inputs.
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2-Input NOR Gate 7402LS
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Half Adder using NAND gates only:-

7400
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A
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Dept. of Pure and Applied Science

Full Adder using NAND gates only:-

7ail }AJ{AE A+
iE _l_

B

A ]
Talr) ]:_, BB Tall) :|=

B DJ_

B

-
7400 ):S AP
7400 ): C=AB

_I_?*m — =
D,

(= ABHCR-A (A

Fa) ] g

MIDNAPORE CITY COLLEGE 10



Bachelor of Computer Application Lab Manual Dept. of Pure and Applied Science

Experiment No: Date: [/ /

HALF/FULL ADDER & HALF/FULL SUBTRACTOR

Aim: - To realize half/full adder and half/full subtractor.
i Using X-OR and basic gates
i Using only nand gates.

Apparatus Required: -

IC 7486, IC 7432, IC 74 08, IC 7400, etc.
Procedure: -
1 Verify the gates.
2 Make the connections as per the circuit diagram.

3. Switch on V¢c and apply various combinations of input according to
the truth table.

4 Note down the output readings for half/full adder and half/full
subtractor sum/difference and the carry/borrow bit for different
combinations of inputs.

MIDNAPORE CITY COLLEGE 11



Bachelor of Computer Application Lab Manual Dept. of Pure and Applied Science

Using X — OR and Basic Gates (a)Half Subtractor

A \, D=A%B
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Full Subtractor

) Using only NAND gates (a) Half subtractor
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(b) Full Subtractor
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Half Adder Half Subtractor
AIB|S|C|SV)| CV) A|B|D|B|D(®V)|B(\V)
o[ofo ofofo]o
ol1l1l0 0Oj1(1]1
110(1|0 101110
11101 111010
Full Adder Full Subtractor
A[B[Cn1][S[C]SV)][CV) A|B|Cn-1|D |B|D() |B(v)
0lo 0 ol o 00 0 00
00 1 1|0 00 1 1|1
0|1 0 1]0 01 0 1)1
01 1 0|1 011 1 01
110 0 110 110 0 110
110 1 01 110 1 0|0
111 0 01 111 0 0|0
111 1 111 111 1 111
Adder : -
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Truth Table: -
A3 | A2 | A1| A0 | B3| B2 | B1|B0 |C4(V) |S3(V) | S2(V) | SL(V) | SO(V)
0 0 0 1 0 0 1 0|0 0 0 1 1
0 1 0 1 1 0 1 111 1 0 0 0
1 0 1 0 1 0 1 011 0 1 0 0
1 1 1 1 1 1 1 1)1 1 1 1 0
0 1 1 1 0 0 1 11]0 1 0 1 0
Subtractor:-
- B ifp
|BO |B1 |B2 |BS
Aiip
’AO ‘m ‘AZ ‘AS
10 8 3 1 11 7 4 186
5 Ve
Vee 7483
co {13 GND
12—
9 6 2 15 14
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Experiment No: Date: [/ /

PARALLEL ADDER AND SUBTRACTOR USING 7483

Aim: - To realize 1C7483 as parallel adder / Subtractor.

Apparatus Required: -

IC 7483, IC 7404, etc.
Procedure: -
1 Apply the inputs to A0 to A3 and BO to B3.
2 Connect CO to the Ground.
3 Check the output sum on the SO to S3 and also C4.

4  For subtraction connect CO to Vcc, Apply the B input through NOT
gate, which gives the complement of B.

5 The truth table of adder and Subtractor are noted down.

Truth Table for Subtractor

A3[ A2 AL A0 B3| B2[B1][ B0 [C4(V) [S3(V) [S2(V) [SL(V) [SO(V)
ojlo|1]ololo|o0o] 1]1 0 1
ol1]o]1]oflo|1]1]1 0 1 0
ojlo|1]1|0[1]0|1]0 1 1 1 0
1lo|1l0]0|1]1]|0]1 0 1 0 0
1loloflo|1|1]1]|1]0 1 0 0 1
tlo[1]lo[ofl1]1]0]1 0 1 0 0
tlofoflo[ 11 1]1]o0 1 0 0 1
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BCD To Excess-3

B3 Bz

B

=11]

400

7400

400

Dept. of Pure and Applied Science

EO = B0

= B0B1 + BOB1 = BOxA1

400

Ez=B0B1B2+B2B0+51 52

400

740

7410

:

7400

7400

Truth Table For Code Conversion: -

E3=B3+B0B2+B182
Gl :F

Inputs Outputs
B3| B2 |B1|B0 |E3(v) |[E2(v) |El(v) |EO(v)
0Oo|O0|0] 0O 0 1 1
ojo0j0|1]|0 1 0 0
ojo0j1(0|0O 1 0 1
ojo0j1(1|0 1 1 0
oj1]00|O 1 1 1
010|112 0 0 0
0| 1|1]0]1 0 0 1
o] 1]1]1]1 0 1 0
110,001 0 1 1
110,011 1 0 0
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Experiment No: Date: [/ [/

BCD to Excess 3 AND Excess 3 to BCD

Aim: - To verify BCD to excess —3 code conversion using NAND gates. To study and

verify the truth table of excess-3 to BCD code converter

Apparatus Required: -
IC 7400, IC 7404, etc.

Procedure: - (BCD Excess 3 and Vice Versa)

1 Make the connections as shown in the fig.

2 Pin [14] of all IC’S are connected to +5V and pin [7] to the ground.

3 Theinputs are applied at E3,E2,E1, and E0 and the
corresponding outputs at B3, B2, B1, and BO are taken for excess
-3 to BCD.

4 B3,B2,B1,and BO are the inputs, and the corresponding outputs are
E3, E2, E1 and EO for BCD to excess — 3.

5 Repeat the same procedure for other combinations of inputs.

6 Truth table is written.
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Excess-3 To BCD :-

gz E2 E1 EO

400 400 400

BO=E

7400 B1 = EQEE1

400

400

400

B2 = EZE1 + E2E0+E0E1E2

400 410

410

U

B3 = E2E3 + EOE1ES

400
T400

410

S

Truth Table For Code Conversion: -

Inputs Outputs
E3|E2 | E1| EO | B3(v) [B2(v) | B1(v) | BO(V)
O |0 |1 |1 |0 0 0 0
O |1 |0 |0 |O 0 0 1
O |1 |0 |1 |0 0 1 0
O |1 |1 |0 |O 0 1 1
O |1 |1 |1 |0 1 0 0
1 |0 |0 [0 |O 1 0 1
1 |0 |0 (1 |O 1 1 0
1 |0 |1 (0 |O 1 1 1
1 |/0 |1 (1 |1 0 0 0
1 |1 |0 (0 |1 0 0 1
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Exercise: -

1 Obtain the expression for E3, E2, E1 and EO

2 Obtain the expression for B3, B2, B1 andB0
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Circuit Diagram: -

Binary To Gray Gray To Binary

-
-
o S O

Using EX-OR gates Using EX-OR gates
Truth Table For Both: -

Inputs Outputs
B3 | B2 | Bl | B0 |G3 (V) |G2(V) |Gl(V) |GO(V)
o(0]0}] 0|0 0 0 0
o(o0jo0o}|1]|0 0 0 1
o(0]1]010 0 1 1
010 1 110 0 1 0
0 1 010]0 1 1 0
0 1 0 110 1 1 1
0 1 1 010 1 0 1
0 1 1 110 1 0 0
1100 0]1 1 0 0
1101] 0 111 1 0 1
110 1 011 1 1 1
110 1 111 1 1 0
1110, 0]1 0 1 0
1 1 0 111 0 1 1
1 1 1 011 0 0 1
1 1 1 111 0 0 0
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Experiment No: Date: [/ [/

BINARY TO GRAY AND GRAY TO BINARY
CONVERSION

im: - To convert given binary numbers to gray codes.

Apparatus Required: -
IC 7486, etc

Procedure: -

1 The circuit connections are made as shown in fig.

2 Pin (14) is connected to +Vcc and Pin (7) to ground.

3 In the case of binary to gray conver sion, the inputs B0, B1, B2 and B3
are given at respective pins and outputs GO, G1, G2, G3 are taken for
all the 16 combinations of the input.

4 In the case of gray to binary conver sion, the inputs GO, G1, G2 and G3
are given at respective pins and outputs B0, B1, B2, and B3 are taken
for all
the 16 combinations of inputs.

5 The values of the outputs are tabulated.
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Using Nand Gates
Only: - Binary To Gra

B3 Bo B | BO

7400 —I_ Go = BOGE
7400 | 7400

F400

7400 _I_ i =B1@ B2
7400 | 7400

F400

7400 _I_ 32 =B2@E3
7400 ) 7400 .

F400

3= B3
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Gray Code
53 G2 1 G0 B3=0G3
7400 —‘ BI=G2®B3
F400 :P i F400 :P
F400
Fann —‘ B1=B2®G1
F400 :P . F400 :P
F400
F400 BO=B1%® G0
F400 :P—' F400 :P—
F400
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Truth Table For Both: -

Inputs Outputs
B3| B2 |B1|B0 |G3(V)|G2(V) |Gl1(V) | GO((V)
o000 O0]|O 0 0 0
ojo0ojo0|1]|0 0 0 1
ojo0j1(01|0O0 0 1 1
ojo0(1(11|0 0 1 0
oj1,00|O 1 1 0
0 1 0 110 1 1 1
oj1(1(01|0 1 0 1
o|111]1/|0 1 0 0
1,00 0|1 1 0 0
1100|112 1 0 1
110101 1 1 1
170111 1 1 0
111,001 0 1 0
111,011 0 1 1
1 1 1 01 0 0 1
1 1 1 1|1 0 0 0
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Pin Details: -
14—SIII
2—51 VCCJE
_']_Oﬁ
E—IDA D‘-‘«—?
Ab Bty
LIEA
_S—ISA 741583 5
154 £5 IB [~
1I:I—IIZIEE
BIPT g .
12 GHD —
=1 2B
EENED
Truth Table: -
CHANNEL - A CHANNEL - B
INPUTS SELECT | O/P INPUTS SELECT | O/P
LINES LINES
Ea|loa|lla|l12a|13a|S1 | S2 | Za(v) Ea |lob [ I1b | 12b | 13b | S1 | S2 | Za(V)
1 |[X |[X | X |X |X |[X |o 1 |X |[X |[X |X |X |X |o
0 |0 |[X |X |[x |0 |0 |o 0 |0 |X |X |X |0 |0 |O
0 |1 [X |X |x |0 |0 |1 0 |1 |X |X |X |0 |0 |1
0 |X |0 |X |[x |0 |1 |oO 0 |X |0 |X |X |0 |1 |o
0 | X |1 |X |[x |0 |1 |1 0 |X |1 |X |X o |1 |1
0 | X [X |0 |[x |1 |0 |o 0 |X [X [0 |X |1 |0 |oO
0 | X [X |1 |[x |1 o |1 0 |X |X |1 |X |1 |0 |1
0 | X [X |X |o |1 |1 |o 0 |X |X |X |0 |1 |1 |oO
0 | X [X |X |1 |1 |1 |1 0 |X |X |X |1 |1 |1 |1
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Experiment No: Date: [/ [/

MUX/DEMUX USING 74153 & 74139

Aim: - To verify the truth table of multiplexer using 74153 & to verify a
demultiplexer using 74139. To study the arithmetic circuits half-adder half

Subtractor, full adder and full Subtractor using multiplexer.

Apparatus Required: -
IC 74153, IC 74139, IC 7404, etc.

Procedure: - (IC 74153)
1. The Pin [16] is connected to + Vcc.

. Pin [8] is connected to ground.

’

2

3. The inputs are applied either to ‘A’ input or ‘B’ input.

4. 1If MUX ‘A’ has to be initialized, Ea is made low and if MUX ‘B’ has to be
initialized, Ep is made low.

5. Based on the selection lines one of the inputs will be selected at the
output and thus the truth table is verified.

6. In case of half adder using MUX, sum and carry is obtained by applying a
constant inputs at los, l1a, | 23, 1 32 and | gp, | 1, | 20 and I3p and the corresponding
values of select lines are changed as per table and the output is taken at
Z0a as sum and Z0b as carry.

7. In this case, the channels A and B are kept at constant inputs according
to the table and the inputs A and B are varied. Making Ea and Eb zero
and the output is taken at Za, and Zb.

8. In full adder using MUX, the input is applied at Cn-1, An and Bn. According

to the table corresponding outputs are taken at Cn and Dn.
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Half Adder Using 74153 — Half Subtractor: -
O 1 Ea O 1o Ea
] ]
B oA Voo B TN voo B —
1 1
51 ha . 51 e, - on
7A za
14 s, 7 1 4 1on 7
O3 jaa 4 g e O 3 1 jaa 4 e~
1 1
— — B
0 15, g5 g op 14 B 0 154 £ g og 14|
]
LG . 810 { g g o
0 11 B 111 B
—— B — |8
] ]
12 1 og GnD -2 — 12 g GhD 2
1
19 1 ag 813 13
Full Adder Using 74153: - Full Subtractor Using 74153: -
_ 1 =
_ 14 ER — EA
O
Cr-1 i | 168
T 61104 vee 8 DA WCC
5
5 I
N Dn
| 2| ) oa L5 | i 4 . . 7
S oa T a4 2
4 0 3 4 7 A
1 1
f— B
154 25 5 - 14 B 15| 75 5 op 114
2 10 3 10| g 3
0B 5 on -
11 8 1 11
1ME ng
a 12 g
12 1 108 eNp F2— 178 GND |—
1 13
131138 135
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Truth Tables: - Same for both Subtractor and adder

Full Adder/subtractro

An | Bn | Cn-1|Sn/Dn (V) | Cn/Bn (V)
Half adder/subtractor O [0 |O
A | B | Sn/Dn (V) | Cn/Bn (V) 0O |0 |1
0(0 0O |1 |0
01 0O |1 |1
110 1 (0 |O
111 1 |0 |1
1 (1 |0
1 1 1
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Pin Details: -

B - ® 18 Vce

Sa 2 15 B

Sla 3 14 S

YOa 4 13 Slb

74139

Yia g 17 Ylb

Y2 g 11 Yl

Ya 7 10 Yb

GhDg g Y
Truth Table For Demux: -

CHANNEL - A CHANNEL - B
Inputs Outputs Inputs Outputs

Ea|Sla|SOa|YOa|Yla|Y2a|Y3a| |Eb|Slb|SOb|YOb|Y1lb|Y2b| Y3b
1 X 1 1 1 1 1 X X 1 1 1 1
0 0 0 0 1 1 1 0 0 0 0 1 1 1
0 0 1 1 0 1 1 0 0 1 1 0 1 1
0 1 0 1 1 0 1 0 1 0 1 1 0 1
0 1 1 1 1 1 0 0 1 1 1 1 1 0

Procedure: - (IC 74139)

1. The inputs are applied to either ‘a’ input or ‘b’ input
2. The demux is activated by making Ea low and Eb low.

3. The truth table is verified.
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Half adder
B ® 15 Ve
a7 15 BB
B ~ Half Adder
Sla Sb
A 52 1 A|B|sn(V)|cn(v)
YOa 4 13 Sb
74139 0/0 0 0
Y1 Yb
; _,L 12 01 1 0
um_( L Yag | Yb | 1]0]| 1 0
Carty —d  7am ] Y 7 10 Y 1)1 0 1
GNDg g Yb
Half subtractor:-
0 B 1 [ 16 Veeo
p a2 s B Half Subtractor
AZRa 1450 A 1B | Dn (V) | Bn (V)
Borrow — 7400 mj— 74120 —Bﬂb 0|0 0 0
" Yia 5 ERL 0ol1 1 1
Difference — 7400
- Y28 g | | 11 Y 110 1 0
GhDg | | 9 Yb
Exercise:-
e Repeat the experiment to verify
ChannelB. Full Adder using IC 74139:-
N
L
AlE 4 o 16 Vee
Cr1 a5 15 B
B Sla 3 14 9b
Yoa 4 13 Sb
74139
Sum Yia 5 12 Ylb
S D
—d e —— YA | 11 Ylb carry
Y3a 7 10 YD — " F—
GhNDg g Yb
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Full subtractor using IC 74139:-

>
AlBR ® 16 Ve
Cnl S o 15 B |
B Sla 3 14 Stb
Yoa 4 13 Slb
Difference Yia 5 R 12 ¥
_@ﬁ Ya g 11 YD Borrow
o e
GhNDg g Yb
Truth Tables:-
Full Adder Full Subtractor
An | Bn|Cn-1|Sn (V) |Cn (V) An | Bn | Cn-1| Dn (V) | Bn (V)
0O |0 |0 0O |0 |O
0O |0 |1 0O |0 |1
0O [1 |0 0O (1 |0
0O |1 |1 0 (1 |1
1 |0 |0 1 |0 |0
1 (0 |1 1 |0 |1
1 (1 |0 1 |1 |0
1 (1 |1 1 |1 |1

MIDNAPORE CITY COLLEGE 31



Bachelor of Computer Application Lab Manual Dept. of Pure and Applied Science

MUX USING NAND GATES ONLY: -

T400 400

m :
410

LET
il 740
7420 >
) 740 )3

J— AET+AEI+4E+4ET
AED

E 410 :P
ARDE

DEMUX USING NAND GATES ONLY: -

A B E

&l

F400 FA00 F400
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Experiment No: DATE: [/ [/

MUX AND DEMUX USING NAND GATES

AIM: - To verify the truth table of MUX and DEMUX using NAND.

APPARATUS REQUIRED: -
IC 7400, IC 7410, IC 7420, etc.
PROCEDURE: -

1. Connections are made as shown in the Circuit diagram.
2. Change the values of the inputs as per the truth table and note

down the outputs readings using multimeter.

TRUTH TABLES: -

INPUT OuUPUT INPUT OUPUT
A|IB|I0O|I1][I12|13]| Y (V) E|AIB|YO(V)|YL(V)|Y2()|Y3(V)
0|00 | X|X|X 0 1| XX 1 1 1 1
001 | X|X | X 1 0(0|0 0 1 1 1
O/1| X |0 X | X 0 0/0|1 1 0 1 1
O11 | X|1]|X|X 1 0(1|0 1 1 0 1
10| X|X]|]0|X 0 0111 1 1 1 0
110X | X|1]|X 1
111 X | X|X]O 0
1|1 X | X|X]|1 1

MIDNAPORE CITY COLLEGE 33



Bachelor of Computer Application Lab Manual Dept. of Pure and Applied Science

One Bit Comparator: -

5—4]: Taon ; ’ BB Y24 AlB Y1 Y2 Y3
7 (A>B) | (A=B) | (A< B)

v 0|0 0 1 0

7408 4B 1A=B) 0|1 0 0 1

|| ] 1[0 1 0 0

raos 7408 2B 111 0 1 0

YO (& = B)

Two Bit Comparator: -
21 a0 B4 a0

Yﬂ/ FET)

o
Yo A=E)

03

pand /
V3 A=E)
402

7403
1 :l 7456
i ]?432

YA

7405

Two-Bit Comparator: -

AL[AO[BL[BO|[YL(A>B) | Y2(A=B) | Y3(A<B)
0 |0 |0 |0 |0 1 0
0 |0 |0 |1 |O 0 1
0 |0 |1 |0 |O 0 1
0 |0 |1 |1 |0 0 1
0 |1 |0 |0 |1 0 0
0 |1 |0 |1 |o 1 0
0 |1 |1 |0 |o 0 1
0 |1 |1 |1 |0 0 1
1 o [0 [o |1 0 0
1 |0 [0 |1 |1 0 0
1 o [1 [0 |o 1 0
1 (o [1 |1 |o 0 1
1 [1 |0 [0 |1 0 0
1 |1 [0 |1 |1 0 0
1 |1 |1 [0 |1 0 0
1 |1 [1 |1 |o 1 0
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Experiment No: Date: [/ [/
COMPARATORS

Aim: - To verify the truth t able of one bit and two bit comparators using logic gates.

Apparatus Required: -
IC 7486, IC 7404, IC 7408, et c.

Procedure: -

1 Verify the gates.

2 Make the connections as per the circuit diagram.

3 Switch on Vcc.

4. Applying i/p and Check for the outputs.

5 Thevoltameterreadingsofoutputs aretakenandtabulatedin
tabular column.

6. The o/p are verified.
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2-bit Comparator

B3 voc —1°

12 A3

15 B2

11| A2 7

15| B! AB g

o 1 Al A=B 5

o1B0  AB [ —

% A0

2 A<B_IN

2 A=B_IN .

4 A>BTINGND
7485

Tabular Coloumn For 8-Bit Comparator: -

AsBs | A2B2 | AiB1 | AoBo | A>B | A=B | A<B |A>B |A=B |A<B
A3>B3 X X X
As3<B3 X X X
As=B3 | A>>B2 X X
A3=B3 | Ax<B2 X X
As3=B3 | A=B2 | A1>B1 X
As3=B3 | A=B2 | A1<B1 X

As3=B3 | A2=B2 | A1=B1 | Ao>Bo
As3=B3 | A>=B2 | A1=B1 | Ao<Bo
A3=B3 | A2=B2 | A1=B1 | Ao=Bo
A3=B3 | A2=B2 | A1=B1 | Ao=Bo
As3=B3 | A2=B2 | A1=B1 | Ao=Bo

OOk | X| X| X| X| X[ X|X|X
O | O X| X| X| X| X[ X|X|X

OO X X| X[ X[ X]|X|X|X
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8-Bit Comparator: -

LSB MSB
1 1
48B3 vee 16 B3 v 16
14| ’g‘g 14| g‘g
131 A2 131 A2
Bt AB L BT AL
1Al A=B 2. M AB[E
B0 AB [ T1B0  AB P
S a0 A0
2 | A<B_IN 2| A<B IN
3 A=B_IN ] 2~ A=B_IN ]
2| A>BINGND [ A>B_INGND -5
7485 7485
Exercise:-

e Write the truth table for 8-bit comparator and verify the same for
the above circuit.
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PIN DETAILS:-
74148
e
Ll ar i~ | ¥F
| L[
: e o6 |14
— g
B o HE
TRUTH TABLE:-
En|A|B|C|D|E|F|G|H|Qv Qu(V) Qu(V) Es(V) Eo(V)
1 [ X[ XX X[ X[ X]|X]|X]1 1 1 1 1
o (o0j1j121j1)1j1]1]1 1 1 0 1
O (X|]0Oj11j1)1j1]1]1 1 0 0 1
O (0|X|O0|2 1|11 |11 0 1 0 1
0O |00 X|O0Of2f1j1|1]1 0 0 0 1
0O (0jO0jO0O|X|0]2]1]1]0 1 1 0 1
0 (00|00 X|0O]1]1]O0 1 0 0 1
0 |jojojojoflo(XxXj0|11j|o0 0 1 0 1
0 (0j0j0O|O|0O|JO]0O]|0O]O 0 0 0 1
o (1)j1}j11j1)1j1]1]1 1 1 1 0
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Experiment No: DATE: [/ [/

ENCODER & DECODER

AIM:-To convert a given octal input to the binary output and to study the LED
display using 7447 7-segment decoder/ driver.

APPARATUS REQUIRED: -

IC 74148, IC 7447, 7-segment display, etc.

PROCEDURE: - (Encoder)

1 Connections are made as per circuit diagram.
2 The octal inputs are given at the corresponding pins.

3 The outputs are verified at the corresponding output pins.

PROCEDURE: - (Decoder)

1 Connections are made as per the circuit diagram.
2 Connect the pins of IC 7447 to the respective pins of the LED display board.

3 Givedifferent combinations oftheinputs and observe the decimal

numbers displayed on the board.

RESULT: -
The givenoctal numbers are converted into binary

numbers. The given data is displayed using &-segment

LED decoder.
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TABULAR COLUMN:-

Q4| Q3| Q2| Q1 |O/P |Display | Glowing LEDs
0 0 0 0 0 I:I a,b,cdef
0| 0] 0|1 1 || b,c
0 0 1 0 2 |E| a,b,d,e,g
0 0 1 1 3 Ell a,b,c,d,g
0 1 0 0 4 1—I b,cf.g
0 1 0 1 5 l;' a,c,dfg
0 1 1 0 6 I:l a.c.d.e.fg
0 1 1 1 7 _I a.b.c
1 0 0 0 8 :;: a,b,c,defg
1 0 0 1 9 |:|| a,b,c,d,fg
1 0 1 0 10 |: deg
1 0 1 1 11 :l c,dg
1 1 0 0 12 | cde
1 1 0 1 13 E a,g,d
1 1 1 0 14 :: defg
1 1 1 1 15 blank
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PIN DETAILS:-
16
oIy vee  EHEo
c—7 |0 N -
o602 o T
ol el
e L B
5 |kl £G4
O— REI G o
—Eiono  BiRBD [0
DISPLAY:-
sv
Conclusion:-
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Circuit Diagram: - (Mas ter Slave JK Flip-Flop)
Pr

40

400

=0

o
Clock Pulse

| O 7410

ITI
W
5 £
| 1
£
-:':-DI

Cir

40

-

DFlip-Flop:-
Pr
pal
o 740 7410
] ] 7400
7400 8
a0 | [
| 7400 7]}
| ] 7400 o
740 7410 |
[ a
Clock Pulse
= ] 7410 |
L]

MIDNAPORE CITY COLLEGE 42



Bachelor of Computer Application Lab Manual Dept. of Pure and Applied Science

T-Flip Flop

L 2
7410 7410
| 7400
7400 e
=t
| 7400 7]
| | 7400 =
7410 7410 |
Clock Pulse
o ] w40
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Experiment No: Date: [/ /
FLIP-FLOP
Aim:- Truth table verification of Flip-Flops : (i) JK Master Slave

(i) D- Type

(il)  T-Type.

Apparatus Required: -
IC 7410, IC 7400, etc.

Procedure: -
1 Connections are made as per circuit diagram.
2 The truth table is verified for various combinations of inputs.

Truth Table:- (Master Slave JK Flip-Flop)

Preset |Clear |J |K [Clock [Qn+l | Qn[
1
0 1 X | X X 1 0 Set
1 0 X| X X 0 1 Reset
1 1 |0ol0o| 4 | On | On | NoChange
1 1 01 n 0 1 Reset
1 1 |1]0| pn 1 0 Set
1 1 111 @ Qn Toggle
DFlip-Flop:-
Preset | Clear |D [Clock |Qn+l | Qn[
1
1 1 0| n 0 1
1 1 1| 1 0
T Flip-Flop:-
Preset | Clear |T |Clock [Qn+l | Qn(O1
1 1 [0l | On | On
1 1 (1| o | On | On
Exercise:-

e Write the timing diagrams for all the above Flip-Flops
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Pin Details: - Truth Table:-
ekl [T O gk Clock | QC | QB | QA
PRI |, Y 0 0 0 0
. 1 0 0 1
e K ) 2 [0 1]o0
JI__{4 13 |-Cnd 3 0111
vee |, 746 | ke 4 11010
6 1 1 0
PR2 oz
I 1 7 1] 1] 1
Ciz_ | q |2
Timing Diagram:-
CLK
S
R
Q ——]
Circuit Diagram: - 3-Bit Asynchronous Up Counter
WEIC 4 *
Ll L Ll
41 |E, 18 af|E, 4 |E, Hisac
Clack I.-'F¢ 1{:, CLE Eiﬁ CLE 1,;, CLE
It 16 = .1 12 = .10 16 = .1
k5o fF— o T k5o fF—
] L] ]
TG R TG
WS G ; |
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3-bit Asynchronous
up counter
Clock | QC | QB
0

Q
>

OINOO|D(WIN|F-
Ol R, FPPFPOIOCIOIO
Ok, P, O oIk OO
O, O O IOo|IrOo

CLK I

QA

L
— ]

QB
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Experiment
No: Date: [/ [/

COUNTERS

Aim:- Realization of 3-bit counters as a sequential circuit and Mod-N counter
— — design (7476, 7490, 74192, 74193).

Apparatus Required: -

IC 7408, IC 7476, IC 7 490, IC 74192, IC 74193, IC 7400, IC 7416, IC 7432

etc.
Procedure: -
1 Connections are made as per circuit diagram.

2 Clock pulses are applied one by one at the clock I/P and the O/P is
observed at QA, QB & QC for IC 7476.

3 Truth table is verified.

Procedure (IC 741 92, IC 74193):-

1 Connections are made as per the circuit diagram except the

connection from output of NAND gate to the load input.

2 The data (0011) = 3 is made available at the datai/psA,B,C&D

respectively.

3 Theload pin made low so that the data 0011 appears at QD, QC, QB & QA

respectively.
4 Now connect the output of the NAND gate to the load input.
5 Clock pulses are applied to “count up” pin and the truth table is verified.

6 Now apply (1100) = 12 for 12 to 5 count er and remaining is same as for

3 to 8 counter.
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7. The pin diagram of IC 7419 2 is same as that of 74193. 74192 can be
configured to count between 0 and 9 in either direction. The starting

value can be any number between 0and 9.

Circuit Diagram: - 3-Bit Asynchronous Down Counter

WEIT + *
Nt];- r“:l NJ;-
Ll L Ll
4 ..I|EI] 12 4 ..I|EI] 11 4 ..I|EI] 12 o
I:IDJE_HL”F'':} Lab oL SoroLk L
16 H|EE$M 12 H|EE 10 16 H|Euﬁﬁ
(] [ (]
S S S
WJ E'Z-J ’-'“'-'|
WEIT o ) )
3-bit Asynchronous
e || U ULU UL
Clock | QC | QB | QA
0 1 1 1
1 11110 QA
2 1] 0] 1 — T
3 1 0 0
4 o[ 1] 1] o
5 0 1 0 —_
6 0 0 1
7 0 0 0
8 1] 11| &
9 1 1 0
Mod 5 Asynchronous Counter: -
7400 F—
WD 1 1
Hcl r‘:]} HcJ;r
L L L
4 J|Eu 15 a J|Eu 11 4 J|Eu 15 ac
Eln:j:_kLI."Fc P Bt oLk Loboi
18 K|EE AL B K|EE 10 18 +=:|EE 14
(] (] (]
T EEw tﬁ ']" EEw Sk ']?' 7aTE
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MOD 5 Asynchronous
counter

Clock | QC | QB | QA

0 0 0 0

1 0 0 1

2 0 1 0

3 0 1 1

4 1 0 0

5 0 0 0
e« [[JUUUUUUUUL
o [ |
QB —
QC

MOD 3 Asynchronous Counter:-

7400

WC l l cL
i i I
4 J|=L.] 15 af |, i Eg HE—onc
Clock /P, I Bk L g Lot oLk
|u |U |U
i
“T A oy m‘]’ EE &8 N]’ 1476
Mod 3 Asynchronous CLK
counter
Clock | QC | QB | QA -|
0 0 | 0 | 0o | —
1 0 0 1 —
2 0 1 0 QB
3 0 0 0
4 0 0 1
5 0 1 0 QC
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3-bit Synchronous Counter:-

QA 0] ;] ac
L] =]
] ¢
WO o=
4 JED 15 1 Jlgﬂl‘ | ?403\ 4 JED 15
Clock P, 1 CLK B CLK o 1 LK
h 18 K|EE pld iklgﬁ Il 1—K|EE 1
A R R
ece ] ] |
CLK
QA
QB
QC
IC 7490 (Decade Counter):-
VCC Clock | QD |QC [ QB | QA
0 0 0 0 0
INPUT A 1 1]0]0j0)1
o kol 14 L TLRAVEC A !2 2 0 0 1 0
ock Ifp 1 - 0B [ ggg 3 0 0 1 1
>+ CLKB Qc 3
L1 R92 GND 6 0 1 11110
=2 7 0 1 1 1
=il 8 1] oo o
- 9 1 0 0 1
10 0 0 0 0

IC 7490 (MOD-8 Counter):-
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HEk Clock | QD [ QC | OB [0QA
0 0 0 0 0
INPUTA N 1 o To ol 1
CLEAWDE 04
Clock 0B [2—oqs 2 0] 0] 1]0
—FCLKE  OC y—20c 3 0] 0] 1)1
5| k01 Qo <00 4 0 1 0 0
6| B0< 7aa0 5 [0 | 101
7
RS2 GND 6 |0 1] 1]0
3 - 7 0 1 1 1
L 8 0 0 0 0
9 0 0 0 1

Circuit Diagram (IC 74193) To Count from 3 to 8:-

WZE
16

le— ppwee m

IO‘T P1 F}|
D'ﬂ'—g Pz oz
Qo——=— pa o3

Clack 1P, g CLKD Tl
WOC o———CLEU Co
NE o 14 CLE 4183

11

LoAD GHD

Clock | QD | QC | QB | QA Cou_nt in
Decimal

0 0 0 1 1 3

1 0 1 0 0 4

2 0 1 0 1 5

3 0 1 1 0 6

4 0 1 1 1 7

5 1 0 0 0 8

6 0 0 1 1 3

7 repeats 4
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Circuit Diagram (IC 74193) To Count from 8 to 3:-

Clock | QD | QC | QB [ QA Countin
mﬂ:r: Decimal
16
0 0 1 0 1 5
15 3
19— P0%CC oo
H 1E| 2 o g |1 1 0 1 1 0 6
i i 7404 2 o | 1|11 7
Ciocw /P g .CLKkD BO %ONE 3 1 0 0 0 8
WLC o———CLEL Co———%HNC
NG o 14 oL 74102 4 1 0 0 1 9
U '0A0 GND 5 1 0 1 0 10
i%_ 6 1 0 1 1 11
) 7 1|10/ o0 12
8 0 1 1 5
9 repeats 6

Function Table for 7490:-

Clock | R1 | R2 |S1|S2 |QD |QC [QB |QA
X HIH|L|X| L L L L RESET
X H|H| X|L| L L L L RESET
SET
X X| X|H|H]| H L L | H| 159
| X | L|X]|L COUNT
m | L | X|L|X COUNT
m | L X | X]|L COUNT
m | x| L|L|Xx COUNT
4 1/P OR Gate can be realized as follows:-
[ 7432 69 §
7432 g
10

Circuit Diagram: - Shift Left
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Clock | Seriali/p |QA | QB | QC |QD
1 1 X | x| x| 1
NGl fep Qg—ép 2 X | x| 1] o0
fA 33 ] 3 1 X[ 10| 1
s.loﬁ,rj‘g == 4 1 10|11
2na ks
o2 p
7405
NS 5T CLKI 14,
Clock 1P PCLKZ  VCC [OVEC

5] 7

SIPO (Right Shift):-

: Clock | Seriali/p | QA | QB | QC | QD
Serial 1 <0l QA :
7 . gg 1 1 0 0 X X X
3 1 2 1 0 X X
a | B Qo
5 g 3 1 1] 1]0]| X
7495 4 1 1 1 1 0
Clock IFP -, X
=1 CLK1 1
NC & —tCLK2 WCC —$WC
6
Mode(M)o—d MODE GHND

.,||_|q

SISO:-
Seral 1 1
Ol
A 0 8’;‘ : Clock | Serialil/p |QA | QB [QC | QD
£
= A Qc _
M fa e 1 do=0 0 X | x| X
; g 2 d1=1 10| x| X
7980 3 d2=1 1]1]0] X
Clock P, 9 1.
NC & = BCLK? VOO —"-b\,fcc 4 d3=1 1 1 1 | 0=do
Mode(M)os T 5 X X | 1| 1]1=d1
| 6 X X | X | 1]1=d2
= 7 X X | x| x| 1=d3
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SHIFT REGISTERS

Realization of 3-bit counters as a sequential circuit and Mod-N counter

Apparatus Required: -
IC 7495, etc.
Procedure: -

Serial In Parallel Out:-

1 Connections are made as per circuit diagram.

Apply the data at serial i/p

oo

Apply one clock pulse at clock 1 (Right Shift) observe this data at QA.

o~

Apply the next data at serial i/p.

[Sa]

Apply one clock pulse at clock 2, observ e that the data on QA will shift
to QB and the new data applied will appear at QA.

6 Repeat steps 2 and 3 till all the 4 bits data are entered on e by one into
the shift register.

Serial In Serial Out:-

1 Connections are made as per circuit diagram.

Load the shift register with 4 bits of data one by one serially.

At the end of 4th clock pulse the first data ‘d0’ appears at QD.
Apply another clock pulse; the second data ‘d1’ appears at QD.
Apply another clock pulse; the third data appears at QD.

o o1 B~ W

Application of next clock pulse will enable the 4thdata ‘d3’ to appear at
QD. Thus the data applied serially at the input comes out serially atQD
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oldsoi oA
odd a ac
Parallel 3 1
ol QD
/P Data g e
S0 7408
NCO—g->CLK1 i |
Clock 1RO CLKz  vee Hdvee
] 7
Mode | Clock | Parallel i/p Parallel o/p
A|B|C|D|QA|QB|QC|QD
1 1 (12|02 |1| 1] 0] 1|1
0 2 |X|X|[X|X| X | 1] 0] 1
0 3 |X|X|[X|X| X | X] 1] 0
0 4 | X|X[X|X| X | X]| x| 1
PIPO:-
NColdsor oAl
olda o H
Parallel 3 1
ol QD
/P Data g &
0 7408
qQ
NC & = LK1 :
8 1 :
Clock 1P~ pelkz  vee Hvee
] 7
Mode (M)o—_ MODE GND :I_
Clock | Parallel i/p Parallel o/p
A|B|C|D|QA|QB|QC |QD
1 |1]0f1 1101 1|1
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Parallel In Parallel Out:-
1 Connections are made as per circuit diagram.
2 Apply the 4 bit data at A,B, Cand D.
3 Apply one clock pulse at Clock 2 (Note: Mode control M=1).
4

The 4 bit data at A, B, C and D appears at QA, QB, QC and QD
respectively.

Parallel In Serial Out:-

1 Connectionsaremade as percircuitdiagram.
2 Apply the desired 4 bit data at A, B, CandD.

3 Keeping the mode control M=1 apply one clock pulse. The data applied
at A, B, C and D will appear at QA, QB, QC and QD respectively.

4  Now mode control M=0. Apply clock pulses one by one and observe the
data coming out serially at QD.

Left Shift:-
1 Connections are made as per circuit diagram.

2 Apply the first data at D and apply one clock pulse. This data appears
at QD.

3 Now the second data is made available at D and one clock pulse
applied. The data appears at QD to QC and the new data appears at
QpD.

Step 3is repeated until all the 4 bits are entered one by one.
At the end 4th clock pulse, the 4 bits are available at QA, QB, QC and

QD. Conclusion: -
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Circuit Diagram: - Ring Counter

I Mode | Clock | QA | QB | QC | QD
Serial m=1 =Dl gf; } 1 1 11 0] 0] 0
°§— A ac } 0 2 ol 1|0] o0
O_J:g g ab 0 3 | olol 1] o
S0 7405 0 4 ol ol o] 1
PC LK1 0 5 1] 0] 0] 0
ook P peLkz  vee (Hhvee
& 7 0 6 repeats
Mode quy & | MODE  GND ___I
alliz
Johnson Counter:-
2 ! Mode | Clock | QA | QB | QC | QD
40 1 1 11 0| 0] o0
0 2 1110l o0
L soi 0 [7—< o | 3 |1]1]1]o0
o—21 ac Hp—= 0 4 | 1] 1] 1] 1
o—=—B Qo
o—23 10 0 5 0 1] 1] 1
C A
18 7405 0 6 ol ol 1] 1
3 b,
) 14 0 7 lolo| o] 1
Clooi - CLK2 wCC ONMCC : . T
7
o |MODE GND
Wade | 0 9 110 0] o
T 0 10 repeats
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Experiment No: Date: [/ /

JOHNSON COUNTERS / RING COUNTER

Aim:- Design and testing of Ring counter/ Johnson counter.

Apparatus Required: -

IC 7495, IC 7404, etc.

Procedure: -
1 Connections are made as per the circuit diagram.
2 Apply the data 1000 at A, B, Cand D respectively.
3 Keeping the mode M =1, apply one clock pulse.

4 Now the mode Mis made 0 and clock pulses are applied one by one,

and the truth table is verified.

5 Above procedure is repeated for Johnson counter also.
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Circuit Diagram: - Sequence Generator

Required Sequence

7436
1
\S
501 oA
Senal /P 0B 1 .
oA ot Hp
o518 ap
1 C
D 7405
Clock /P o 3 L oLk ;
ne—poke  vee Hdvee
Mode(M)=€L MODE GND j
Truth Table:-
Map
Value Clock | QA | QB | QC | QD | o/p D
15 1 1 1 1 1 0
7 2 0 1 1 1 0
3 3 0 0 1 1 0
1 4 0 0 0 1 1
8 5 1 0 0 0 0
4 6 0 1 0 0 0
2 7 0 0 1 0 1
9 8 1 0 0 1 1
12 9 1 1 0 0 0
6 10 0 1 1 0 1
11 11 1 0 1 1 0
5 12 0 1 0 1 1
10 13 1 0 1 0 1
13 14 1 1 0 1 1
14 15 1 1 1 0 1
Karnaugh Map for D:-
QA QB
Qcap 00 01 11 10
ololo]o
O T T1 111
o] 0| 0|0 O
11 11111
10

MIDNAPORE CITY COLLEGE 59



Bachelor of Computer Application Lab Manual Dept. of Pure and Applied Science

Experiment No: Date: [/ /

SEQUENCE GENERATOR

Aim:- Design of Sequence Generator.

Apparatus Required: -

IC 7495, IC 7486, etc.

Design:-

To generate a sequence of length S it is necessary to use at least N number of

Flip-Flops, which satisfies the condition S<2N-1.
The given sequence length S = 15.
Therefore N = 4.

Note: - There is no guarantee that the given sequence can be generated by 4 f/fs.

If the sequence is not realizable by 4 f/fs then 5 f/fs must be used and so on.

Procedure: -
1. Connections are made as per the circuit diagram.

2. Clock pulses are applied one by one and truth table is verified.

Conclusion:-
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Circuit Diagram: - Monostable Multivibrator

+5w
i
F=100E F & 4 R %
i
' | AE—
=0 1uf f
HEsSS
o—z
0P B 4op
1 5 =
(| \
—t
Waveform:-
5V
Trigger
ilp
V
2 »
Approx Vcec
Pulse
O/P at Width
pin 3 T=1ms "
-3
2Vcce/3
Capacitor
Voltage Vc
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DATA STRUCTURE LABORATORY
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©ooNO A

11.
12.

13.

14.

15.
16.

17.

Experiments
Write a program to search an element from a list. Give user the option to
perform Linear or Binary search. Use Template functions.
WAP using templates to sort a list of elements. Give user the option to
perform sorting using Insertion sort, Bubble sort or Selection sort.
Implement Linked List include functions for insertion, deletion and search of
a number, reverse the list and concatenate two linked lists.
Implement Circular Linked List include functions for insertion and deletion.
Perform Stack operations using Linked List implementation.
Perform Stack operations using Array implementation.
Perform Queues operations using Circular Array implementation.
WAP to scan a polynomial using linked list and add two polynomials.
WAP to calculate factorial of a given no. (i) using recursion, (ii) using
iteration.
WAP to display Fibonacci series (i)using recursion, (ii) using iteration.
WAP to calculate GCD of 2 number (i) with recursion (ii) without recursion.

WAP to create a Binary Search Tree and include following operations in
tree: (a) Insertion (Recursive and Iterative Implementation) (b) Deletion.

WAP to create Binary Tree and display its pre-order, post-order and in-order
traversals Recursively.

WAP to create Binary Tree and display its pre-order, post-order and in-order
traversals Iteratively.

WAP to implement Diagonal Matrix using one-dimensional array.

WAP to implement Lower Triangular Matrix using one-dimensional array.

WAP to implement Upper Triangular Matrix using one-dimensional array.
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1. Write a program to search an element from a list. Give user the option
to perform Linear or Binary search. Use Template functions.

Program:
#include<iostream>
#include<conio.h>
using namespace std;
/[Linear Search Method using Template class
template <class T>
T Linear_Search(T larr[], T key,int n){
for(int i=0;i<n;i++){
if(larr[i]==key){
return i,
¥
by
return -1;
¥
//Binary Search Method using Tempalte class
template <class T>
T Binary_Search(T *larr, T key,int n)
{
int I,mid,h;
1=0;
h=n-1;
while(l<=h)
{
mid=(l+h)/2;
if(key==Ilarr[mid])
return mid;
else if(key<larr[mid])
h=mid-1,;
else
[=mid+1,;
¥

return -1;
}

int main()

{

/lInteger elements
int larr[20],1element,i,no;
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cout<<"Enter the number of elements of Integer array: "<<endl;
cin>>no;
for(i=0;i<no;i++){
cin>>larrl[i];
by
cout<<"Elements of Integer Array "<<endl;
for(i=0;i<no;i++)
{
cout<<larr[i]<<" ";
by
cout<<"\nEnter an item to be search using Linear_Search Method: ";
cin>>lelement;
//Linear Search technique is used for Searching the Integer element
int result=Linear_Search(larr,lelement,no);

if(result==-1){

cout<<"Linear_Search Method Element not found in the list *;
¥
else{

cout<<"Linear_Search Method Element is found at position:
"<<result<<endl;
b
/[Binary Search technique is used for Searching the Integer element
cout<<"\nEnter an item to be search using Binary_Search Method: ";
cin>>lelement;
result=Binary_Search(larr,lelement,no);
if(result==-1){

cout<<"Binary_Search Method Element not found in the list "<<endl,;
by
else{

cout<<"Binary_Search Method Element is found at position:
"<<result<<endl;
¥
//Float elements
float F_arr[10],F_element;
cout<<"Enter the "<<no<<" elements of Float array: "<<endl;
for(i=0;i<no;i++){

cin>>F_arr([i];
by
cout<<"\nElements of Float Array \n";
for(int i=0;i<no;i++)
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{

cout<<F_arr[i]<<"";
¥
//Linear Search technique is used for Searching the Floating element
cout<<"\nEnter an item to be search using Linear_Search Method: ";
cin>>F_element;
result=Linear_Search(F_arr,F_element,no);
if(result==-1){
cout<<"Linear_Search Method Element not found in the list ;
by
else{
cout<<"Linear_Search Method Element is found at position:
"<<result;
¥
//Binary Search technique is used for Searching the Floating element
cout<<"\nEnter an item to be search using Binary_Search Method: *;
cin>>F _element;
result=Binary_Search(F_arr,F_element,no);
if(result==-1){
cout<<"Binary_Search Method Element not found in the list "<<endl,
}
else{
cout<<"Binary_Search Method Element is found at position:
"<<result<<endl,
b
/[Character elements
char Carr[10]={"a','b','c’,'d",'e",'f",;'g",'n","1",'|'};
char Celement;
cout<<"Elements of Character Array "<<endl;
for(i=0;i<10;i++)
{
cout<<Carr[i]<<"";
¥
//Linear Search technique is used for Searching the Character element
cout<<"\nEnter an item to be search using Linear_Search Method: *;
cin>>Celement;
result=Linear_Search(Carr,Celement,10);
if(result==-1){
cout<<"Linear_Search Method Element not found in the list ";

}
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else{

cout<<"Linear_Search Method Element is found at position:
"<<result<<endl;
by
/[Binary search technique is used for Searching the Character element
cout<<"\nEnter an item to be search using Binary_Search Method: ";
cin>>Celement;
result=Binary_Search(Carr,Celement,10);
if(result==-1){

cout<<"Binary_Search Method Element not found in the list "<<endl,
¥
else{

cout<<"Binary_Search Method Element is found at position:
"<<result<<endl;
by
getch();
return O;

¥

Input and Output Section:

Enter the number of elements of Integer array:

8

10 20 30 40 50 60 70 80

Elements of Integer Array

10 20 30 40 50 60 70 80

Enter an item to be search using Linear_Search Method: 20
Linear_Search Method Element is found at position: 1
Enter an item to be search using Binary_Search Method: 70
Binary_Search Method Element is found at position: 6
Enter the 8 elements of Float array:
1123456.46557.17.112.1

Elements of Float Array

1123456.46557.17.112.1

Enter an item to be search using Linear_Search Method: 2.1
Linear_Search Method Element is found at position: 7
Enter an item to be search using Binary_Search Method: 3.7
Binary Search Method Element not found in the list
Elements of Character Array

abcdefghij

Enter an item to be search using Linear_Search Method: f
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Linear_Search Method Element is found at position: 5
Enter an item to be search using Binary_Search Method: k
Binary_Search Method Element not found in the list

2. WAP using templates to sort a list of elements. Give user the option to
perform sorting using Insertion sort, Bubble sort or Selection sort.

Program:
#include <iostream>
#include<conio.h>
using namespace std;
template <class T>
void swap(T *x,T *y)
{
T temp=*Xx;
*x:*y;
*y=temp;
¥
/[Bubble sort Method using template class
template <class T>
void Bubble(T A[],int n)
Lo
inti,j;
for(i=0;i<n-1;i++)
{
for(j=0;j<n-i-1;j++)
{
If(AI>A+1]){
swap(&A[j],&A[j+1));
by
¥
by
by

/lInsersion sort Method using Template class
template <class T>

void Insersion(T A[],int n)

Lo

inti,j;

T X;
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for(i=1;i<n;i++)
{
j=i-1;
x=A[i];
while(j>-1 && A[j]>X)
{
Al+1]=ADL
J-
¥
Ali+1]=x;
¥

¥
//Selection Sort Method using Template Class

template <class T>
void SelectionSort(T A[],int n)
{
inti,j,k;
for(i=0;i<n-1;i++)
{
for(j=k=i;j<n;j++)
{
if(Al<ALK])
k=j;
¥
swap(&A[i],&A[K]);
by
¥

int main()

{

//Bubble sort technique is used for Integer type array

int A[100],i,n;

cout<<"Enter the how many integer elements to be sort using Bubble
sorting:"'<<endl;

cin>>n;

cout<<"Elements of integer array are: "<<endl,

for(i=0;i<n;i++){

cin>>A[i];

k
MIDNAPORE CITY COLLEGE 69



Bachelor of Computer Application Lab Manual Dept. of Pure and Applied Science

cout<<"Before Bubble sorting the elements are: "<<endl,;
for(i=0;i<n;i++){
COUt<<A[i]<<"";
¥
Bubble(A,n);
cout<<"\nAfter Bubble sorting the elements are: "<<endl;
for(i=0;i<n;i++)
printf("%d ", A[i]);
printf("\n");
//Bubble sort technique is used for Floating type array
float B[100];
cout<<"Enter the how many float elements to be sort using Bubble
sorting:"<<endl;
cin>>n;
cout<<"Elements of floating array are: "<<endl,
for(i=0;i<n;i++){
cin>>BJ[i];
b
cout<<"Before Bubble sorting the elements are: "<<endl,;
for(i=0;i<n;i++){
Cout<<Bl[i]<<"";
¥
Bubble(B,n);
cout<<"\nAfter Bubble sorting the elements are: "<<endl;
for(i=0;i<n;i++)
printf("%f ",B[i]);
printf(*\n");

/lInsersion sort technique is used for integer type array
/lint A[100],1,n;
cout<<"Enter the how many integer elements to be sort using Insersion
sorting:"'<<endl;
cin>>n;
cout<<"Elements of integer array are: "<<endl;
for(i=0;i<n;i++){
cin>>A[i];
¥
cout<<"Before Insersion sorting the elements are: "<<endl;
for(i=0;i<n;i++){
COUt<<A[i]<<"";
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k

Insersion(A,n);
cout<<"\nAfter Insersion sorting the elements are: "<<endl;
for(i=0;i<n;i++)
printf("%d ", A[i]);
printf("\n");
/lInsersion sort technique is used for Floating type array
/Ifloat B[100];
cout<<"Enter the how many float elements to be sort using Insersion
sorting:"'<<endl;
cin>>n;
cout<<"Elements of floating array are: "<<endl,
for(i=0;i<n;i++){
cin>>BJ[i];
b
cout<<"Before Insersion sorting the elements are: "<<endl;
for(i=0;i<n;i++){
cout<<Bl[i]<<" ";
¥
Insersion(B,n);
cout<<"\nAfter Insersion sorting the elements are: "<<endl;
for(i=0;i<n;i++)
printf("%f ",B[i]);
printf(*\n");

//Selection sort technique is used for integer type array
/lint A[100],1,n;
cout<<"Enter the how many integer elements to be sort using Selection
sorting:"'<<endl;
cin>>n;
cout<<"Elements of integer array are: "<<endl,
for(i=0;i<n;i++){
cin>>A[i];
¥
cout<<"Before Selection sorting the elements are: "<<endl;
for(i=0;i<n;i++){
COUt<<A[i]<<"";
by
SelectionSort(A,n);
cout<<"\nAfter Selection sorting the elements are: "<<endl;
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for(i=0;i<n;i++)

printf("%d ", A[i]);

printf("\n");

/lnsersion sort technique is used for Floating type array

// float B[100];

cout<<"Enter the how many float elements to be sort using Selection

sorting:"<<endl;

cin>>n;

cout<<"Elements of floating array are: "<<endl,
for(i=0;i<n;i++){

cin>>BJ[i];

b

cout<<"Before Selection sorting the elements are: "<<endl;
for(i=0;i<n;i++){

cout<<BJ[i]<<" ",

¥

SelectionSort(B,n);

cout<<"\nAfter Selection sorting the elements are: "<<endl,
for(i=0;i<n;i++)

printf("%f ",B[i]);

printf(*\n");

getch();

return O;

¥

Input and Output Section:

Enter the how many integer elements to be sort using Bubble sorting:
5

Elements of integer array are:

1023091115

Before Bubble sorting the elements are:

102391115

After Bubble sorting the elements are:

910111523

Enter the how many float elements to be sort using Bubble sorting:
5

Elements of floating array are:

9123451129

Before Bubble sorting the elements are:

9123451129
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After Bubble sorting the elements are:

1.100000 2.300000 2.900000 4.500000 9.100000

Enter the how many integer elements to be sort using Insersion sorting:
6

Elements of integer array are:

1924101114

23

Before Insersion sorting the elements are:

192410111423

After Insersion sorting the elements are:

101114192324

Enter the how many float elements to be sort using Insersion sorting:
3

Elements of floating array are:

2.31.2.9

Before Insersion sorting the elements are:

231209

After Insersion sorting the elements are:

0.900000 1.200000 2.300000

Enter the how many integer elements to be sort using Selection sorting:
10

Elements of integer array are:

10 2050 30 21 35449 99 102

Before Selection sorting the elements are:

102050 30 21 35449 99 102

After Selection sorting the elements are:

91020 21 3035445099 102

Enter the how many float elements to be sort using Selection sorting:
5

Elements of floating array are:

1.1.9.2.991.234

Before Selection sorting the elements are:

1.10.90.20.99 1.234

After Selection sorting the elements are:

0.200000 0.900000 0.990000 1.100000 1.234000
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3. Implement Linked List include functions for insertion, deletion and
search of a number, reverse the list and concatenate two linked lists.

Insertion Operation using linked list:

Program:
/* linked List Insertion */
#include <stdio.h>
#include <stdlib.h>
struct Node

{

int data;

struct Node *next;
}*first=NULL,

void create(int A[],int n)
{
inti;
struct Node *t,*last;
first=(struct Node *)malloc(sizeof(struct Node));
first->data=A[0];
first->next=NULL;
last=first;
for(i=1;i<n;i++)
{
t=(struct Node*)malloc(sizeof(struct Node));
t->data=A[i];
t->next=NULL;
last->next=t;
last=t;
}
}
int count(struct Node *p)
{
int 1=0;
while(p)
{

[++;

p=p->next;

}
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return |;

}
void Display(struct Node *p)

{
while(p!=NULL)

{
printf(*%d ",p->data);
p=p->next;
by
}
void Insert(struct Node *p,int index,int x)
{
struct Node *t;
inti;

if(index < 0 || index > count(p))
return;
t=(struct Node *)malloc(sizeof(struct Node));
t->data=x;
if(index == 0)
{
t->next=first;
first=t;
¥
else
{
for(i=0;i<index-1;i++)
p=p->next;
t->next=p->next;
p->next=t;
by
¥
int main()

{

/lint A[]={10,20,30,40,50};
/Icreate(A,5);

//Insert Node
printf("Node Insert: \n");
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Insert(first,0,5);

Display(first);

printf("\nNode Insert: \n");
Insert(first,1,10);

Display(first);

/IFirst Node Insert
printf("\nFirst Node Insert: \n");
Insert(first,0,15);

Display(first);

//Last Node Insert
printf("\nLast Node Insert: \n");
Insert(first,3,20);

Display(first);

//Any position Node Insert
printf("\nGiven position Node Insert: \n");
Insert(first,2,39);

Display(first);

return O;

¥

Input and Output Section:
Node Insert:

5

Node Insert:

510

First Node Insert:

15510

Last Node Insert:
1551020

Given position Node Insert:
155391020
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Deletion Operation using linked list

Program:

/* Linked List Delete element */

#include <stdio.h>

#include <stdlib.h>

struct Node

{

int data;

struct Node *next;

}*first=NULL,

void create(int A[],int n)

L

int i

struct Node *t,*last;

first=(struct Node *)malloc(sizeof(struct Node));

first->data=A[0];

first->next=NULL;

last=first;

for(i=1;i<n;i++)

{
t=(struct Node*)malloc(sizeof(struct Node));
t->data=A[i];
t->next=NULL,
last->next=t;
last=t;

}

}

void Display(struct Node *p)

{

while(p!=NULL)

{
printf("%d ",p->data);
p=p->next;

}

}

int count(struct Node *p)

{

int 1=0;

while(p)
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p=p->next;
¥

return |

k

int Delete(struct Node *p,int index)
{
struct Node *g=NULL;
int x=-1,i;
if(index < 1 || index > count(p))
return -1;
if(index==1)
{
g=first;
x=first->data;
first=first->next;
free(q);
return Xx;

}

else
{
for(i=0;i<index-1;i++)
{
a=p;
p=p->next;
}
g->next=p->next;
X=p->data;
free(p);
return X;
}
}
int main()
{
inti;
int A[]={10,20,30,40,50};
create(A,5);
printf("Lined List element are: \n");
Display(first);
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printf("\nDelete element %d\n",Delete(first,2));
Display(first);

printf("\nDelete element %d\n",Delete(first,1));
Display(first);

printf(*\nDelete element %d\n",Delete(first,0));
Display(first);

return O;

¥

Input and Output Section:
Lined List element are:
1020 30 40 50

Delete element 20

10 30 40 50

Delete element 10

304050

Delete element -1

304050

Search of a number using linked list

Program:
[*Searching of a number using Lined List */
#include <stdio.h>
#include <stdlib.h>

struct Node

{

int data;

struct Node *next;

}*first=NULL,

void create(int A[],int n)

{

inti;

struct Node *t,*last;

first=(struct Node *)malloc(sizeof(struct Node));
first->data=A[0];

first->next=NULL;

last=first;
for(i=1;i<n;i++)
{
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t=(struct Node*)malloc(sizeof(struct Node));
t->data=A[i];
t->next=NULL,
last->next=t;
last=t;
}
}
struct Node * LSearch(struct Node *p,int key)

{
while(p!=NULL)

{
if(key==p->data){
return p;
by
else{
p=p->next;
by
by
return NULL;

}
struct Node * RSearch(struct Node *p,int key)

{
if(p==NULL)
return NULL;
if(key==p->data)
return p;
return RSearch(p->next,key);

}
int main()
{
struct Node *temp;
int A[]={3,5,7,10,25,8,32,2},i;
printf("Linked list elements are: \n");
for(i=0;i<8;i++){
printf(" %d ", A[i]);
}
/IRecursive LinearSearch
create(A,8);
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temp=RSearch(first,8);
if(temp)

printf("\nKey is Found* %d \n",temp->data);
else

printf("Key is not Found: \n");
//terative LinearSearch
temp=LSearch(first,27);
if(temp)

printf("\nKey is Found* %d \n",temp->data);
else

printf("Key is not found: ");

return O;

¥

Input and Output Section:
Linked list elements are:
35710258322
Key is Found* 8

Key is not found:

Reverse a linked list:

Program:

/* Reverse a Linked List */

#include <stdio.h>

#include <stdlib.h>

struct Node

{

int data;

struct Node *next;
}*first=NULL,*second=NULL,*third=NULL;
void Display(struct Node *p)

{
while(p!=NULL)

{
printf("%d ", p->data);

p=p->next;
¥
}
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void create(int A[],int n)

L

inti;

struct Node *t,*last;

first=(struct Node *)malloc(sizeof(struct Node));
first->data=A[0];

first->next=NULL;

last=first;

for(i=1;i<n;i++)

{

t=(struct Node*)malloc(sizeof(struct Node));
t->data=A[i];
t->next=NULL,
last->next=t;

last=t;

}

}

int count(struct Node *p)
{

int 1=0;

while(p)

{

[++;

p=p->next;

}

return |;

¥

void Reversel(struct Node *p)

{
int *A,i=0;
struct Node *q=p;

A=(int *)malloc(sizeof(int)*count(p));

while(q!=NULL)
{

A[i]=g->data;
q=0->next;

i++;
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while(q!=NULL)
{

g->data=A[i];
g=Q->next;

-

}

}

void Reverse2(struct Node *p)

{
struct Node *g=NULL,*r=NULL,;

while(p!=NULL)

{

r=q;

q=p;

p=p->next;
q->next=r;

}

first=q;

}

void Reverse3(struct Node *q,struct Node *p)
{

if(p)

{
Reverse3(p,p->next);
p->next=q;

}

else

first=q;

}

int main()

{

int A[]={10,20,40,50,60};
create(A,5);
printf("Linked list elements are: \n");
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Display(first);

Reverse3(NULL,first);
printf("\nReverse Linked list elements are: \n");
Display(first);

return O;

¥

Input and Output Section:
Linked list elements are:

10 20 40 50 60

Reverse Linked list elements are:
60 50 40 20 10

Concatenate of two linked list:

Program:
[*Concatenate two Linked List*/
#include <stdio.h>
#include <stdlib.h>

struct Node

{

int data;

struct Node *next;
}*first=NULL,*second=NULL,*third=NULL,;
void Display(struct Node *p)

{

while(p!=NULL)

{

printf("%d ",p->data);
p=p->next;

}

}

void create(int A[],int n)

-

int i

struct Node *t,*last;
first=(struct Node *)malloc(sizeof(struct Node));
first->data=A[0];
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first->next=NULL;
last=first;

for(i=1;i<n;i++)

{

t=(struct Node*)malloc(sizeof(struct Node));
t->data=A[i];

t->next=NULL;

last->next=t;

last=t;

¥

b

void create2(int A[],int n)

{

inti;

struct Node *t,*last;

second=(struct Node *)malloc(sizeof(struct Node));
second->data=A[0];

second->next=NULL,;

last=second,

for(i=1;i<n;i++)

{

t=(struct Node*)malloc(sizeof(struct Node));
t->data=A[i];

t->next=NULL;

last->next=t;

last=t;

}

}
/*void Merge(struct Node *p,struct Node *q)
{

struct Node *last;

if(p->data < g->data)

{

third=last=p;
p=p->next;
third->next=NULL;
}

else
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{

third=last=q;
g=Q->next;
third->next=NULL;
}

while(p && q)

{

if(p->data < q->data)
{

last->next=p;
last=p;

p=p->next;
last->next=NULL;

}

else

{

last->next=q;
last=q;

g=q->next;
last->next=NULL;

}

by
if(p)last->next=p;
if(q)last->next=q;

}
*/
void Concat(struct Node *p,struct Node *qg){
third=p;
while(p->next!=NULL){
p=p->next;
}

p->next=q;
}

int main()

{
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int A[]={10,20,40,50,60};
int B[]={15,18,25,30,55};
create(A,5);

create2(B,5);

//Merge(frist,second);
/[Display(third);

printf("First Linked List \n");
Display(first);

printf("\n");

printf("Second Linked List \n");
Display(second);

printf(*\n");
Concat(first,second);
printf("Concatenate two Linked List: \n");
Display(third);

printf("\n\n");

return O;

¥

Input and Output Section:
First Linked List

10 20 40 50 60

Second Linked List

1518 25 30 55

Concatenate two Linked List:
1020405060 1518 253055

4. Implement Circular Linked List include functions for insertion and
deletion.

Circular Linked List for Insertion Operation:

Program:

[*Circular Linked List*/
#include <stdio.h>
#include <stdlib.h>
#include<conio.h>
struct Node

{
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int data;

struct Node *next;
}*Head;
void create(int A[],int n)
L

inti;

struct Node *t,*last;
Head=(struct Node*)malloc(sizeof(struct Node));
Head->data=A[0];
Head->next=Head;
last=Head:;

for(i=1;i<n;i++)
{
t=(struct Node*)malloc(sizeof(struct Node));
t->data=A[i];
t->next=last->next;
last->next=t;
last=t;
}
}
void Display(struct Node *h)

{
do

{
printf("%d ",h->data);
h=h->next;

Iwhile(h!=Head);
printf(*\n");

¥

/*void RDisplay(struct Node *h)

{

static int flag=0;

if(h!I=Head || flag==0)

{

flag=1;

printf("%d ",h->data);

RDisplay(h->next);

by

flag=0;
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*/
int Length(struct Node *p)

{
int len=0;
do
{
len++;
p=p->next;

Iwhile(p!=Head);
return len;

¥

void Insert(struct Node *p,int index, int x)
{

struct Node *t;

inti;

if(index<0 || index > Length(p))

return;

if(index==0)
{
t=(struct Node *)malloc(sizeof(struct Node));
t->data=x;
iIf(Head==NULL)
{
Head=t;
Head->next=Head;

¥

else

{
while(p->next!=Head)p=p->next;
p->next=t;
t->next=Head;
Head=t;

}

}

else

{

for(i=0;i<index-1;i++)
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p=p->next;
t=(struct Node *)malloc(sizeof(struct Node));
t->data=x;
t->next=p->next;
p->next=t;
¥
}

int main()

{

int A[]={2,3,4,5,6};
create(A,5);

printf("Linked List are: \n");
Display(Head);

//Insert Node

printf("\nNode Insert: \n");
Insert(Head,2,10);
Display(Head);

//First Node Insert
printf("\nFirst Node Insert: \n");
Insert(Head,0,15);
Display(Head);

//Last Node Insert
printf("\nLast Node Insert: \n");
Insert(Head,7,20);
Display(Head);

//Any position Node Insert
printf(*\nGiven position Node Insert: \n");
Insert(Head,2,39);
Display(Head);

getch();

return O;

¥
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Input and Output Section:
Linked List are:
23456

Node Insert:
2310456

First Node Insert:
152310456

Last Node Insert:
15231045620

Given position Node Insert:
1523931045620

Circular Linked List for Deletion Operation:

Program:
[*Circular Linked List Deletion*/
#include <stdio.h>
#include <stdlib.h>
#include<conio.h>

struct Node

{

int data;

struct Node *next;

}*Head;

void create(int A[],int n)

L

int i

struct Node *t,*last;
Head=(struct Node*)malloc(sizeof(struct Node));
Head->data=A[0];
Head->next=Head;

last=Head:;

for(i=1;i<n;i++)

{

t=(struct Node*)malloc(sizeof(struct Node));
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t->data=A[i];
t->next=last->next;
last->next=t;
last=t;

}

}

void Display(struct Node *h)

{
do

{
printf("%d ",h->data);
h=h->next;
}while(h!=Head);
printf("\n");
¥
int Length(struct Node *p)
{
int len=0;
do
{
len++;
p=p->next;

Iwhile(p!=Head);
return len;

¥

int Delete(struct Node *p,int index)
{

struct Node *q;

inti,x;

if(index <0 || index >Length(Head))
return -1;

if(index==1)

{
while(p->next!=Head)p=p->next;
x=Head->data;

if(Head==p)

{
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free(Head);
Head=NULL;
by

else

{
p->next=Head->next;
free(Head);
Head=p->next;
}

}

else

{
for(i=0;i<index-2;i++)
p=p->next;
g=p->next;
p->next=q->next;
X=¢->data;
free(q);

}

return x;

}

int main()

{

int A[]={2,3,4,5,6,7,8,9,10};

create(A,9);

printf("Linked List are: \n");

Display(Head);

//First Node Delete
printf("\nFirst Node Delete: \n");
Delete(Head,1);

Display(Head);

//Last Node Delete
printf("\nLast Node Delete: \n™);
Delete(Head,8);

Display(Head);

/[Any position Node Insert
printf("\nGiven position Node Delete: \n");
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Delete(Head,5);
Display(Head);
getch();
return O;

¥

Input and Output Section:
Linked List are:
2345678910

First Node Delete:
345678910

Last Node Delete:
3456789

Given position Node Delete:
345689

5. Perform Stack operations using Linked List implementation.

Program:

[*Stack using Linked List*/
#include <stdio.h>
#include <stdlib.h>

struct Node

{

int data;

struct Node *next;
}*top=NULL,;

void push(int x)
{
struct Node *t;
t=(struct Node*)malloc(sizeof(struct Node));
if(t==NULL)
printf("stack is full\n");
else

{

t->data=x;
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t->next=top;
top=t;

}

}

int pop()

{

struct Node *t;

int x=-1;

if(top==NULL)
printf("Stack is Empty\n");

else

{
t=top;
top=top->next;
x=t->data;
free(t);

¥

return x;

¥

void Display()
{
struct Node *p;
p=top;
while(p!=NULL)
{
printf("%d ",p->data);
p=p->next;
}
printf("\n");
}
int main()
{
I/ push the elements
printf("Push the elements are: \n");
/llast elements top of the stack
push(10);
push(20);
push(30);
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push(40);
push(50);
Display();

printf("'pop element %d \n",pop());
printf(*pop element %d %d ",pop(),pop()); //right to left operation
return O;

k

Input and Output Section:
Push the elements are:
5040 302010

pop element 50

pop element 30 40

Dept. of Pure and Applied Science

6. Perform Stack operations using Array implementation.

Program:
[* Stack using Array */
#include <stdio.h>
#include <stdlib.h>
struct Stack

Lo

int size;

int top;
int *S;
¥
void create(struct Stack *st)
{

printf("Enter Size ");
scanf("%d",&st->size);

st->top=-1;

st->S=(int *)malloc(st->size*sizeof(int));
¥
void Display(struct Stack st)

-

inti;

for(i=st.top;i>=0;i--)

printf("%d ",st.S[i]);
printf(*\n™);
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¥

void push(struct Stack *st,int x)
{
if(st->top==st->size-1)
printf("Stack overflow\n");
else
{
st->top++;
st->S[st->top]=x;
¥
b
int pop(struct Stack *st)
{
int x=-1;
if(st->top==-1)
printf("Stack Underflow\n");
else
{
x=st->S[st->top--];
¥

return x;

¥

int peek(struct Stack st,int index)

{

int x=-1;

if(st.top-index+1<0)
printf("Invalid Index \n");
x=st.S[st.top-index+1];

return Xx;

¥
int isEmpty(struct Stack st)

{

if(st.top==-1)
return 1,

return O;

¥
int isFull(struct Stack st)

{
MIDNAPORE CITY COLLEGE 97



Bachelor of Computer Application Lab Manual Dept. of Pure and Applied Science

return st.top==st.size-1;

}
int stack Top(struct Stack st)

{

If(lisEmpty(st))

return st.S[st.top];

return -1;
}
int main()
{
struct Stack st;
create(&st);
/lpush the elements into the Stack
printf(""Stack elements are: \n");
push(&st,10);
push(&st,20);
push(&st,30);
push(&st,40);
push(&st,50);
push(&st,60);
//Stack overflow when Enter the size 5
Display(st);
//pop the elements from a Stack
printf("pop element: %d \n",pop(&st));
printf("After the pop operation Stack elements are: \n");
Display(st);
//Stack Underflow when more then 6 elements pop out
/lprintf("pop element: %d %d %d %d %d
%d\n",pop(&st),pop(&st),pop(&st),pop(&st),pop(&st),pop(&st));

//Peek the element into the Stack

printf("peek element: %d \n", peek(st,1));

printf("After the peek operation Stack elements are: \n");
Display(st);

return O;

¥
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Input and Output Section:

Enter Size 6

Stack elements are:

60 50 40 30 20 10

pop element: 60

After the pop operation Stack elements are:
5040 302010

peek element: 50

After the peek operation Stack elements are:
5040302010

Enter Size 5

Stack elements are:

Stack overflow

5040302010

pop element: 50

After the pop operation Stack elements are:
403020 10

peek element: 40

After the peek operation Stack elements are:
4030 20 10

Enter Size 6

Stack elements are:

60 50 40 30 20 10

pop element: 60

After the pop operation Stack elements are:
5040302010

Stack Underflow

pop element: -1 10 20 30 40 50

Invalid Index

peek element: 0

After the peek operation Stack elements are:
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7. Perform Queues operations using Circular Array implementation.

Program:
I* Queue Operation Using Circular Array Implementation*/
#include <stdio.h>
#include <stdlib.h>

struct Queue

{

int size;

int front;

int rear;
int *Q;
j
void create(struct Queue *q,int size)
{ - -

q->size=size;

g->front=g->rear=0;

g->Q=(int *)malloc(g->size*sizeof(int));
}

void enqueue(struct Queue *q,int x)
{
if((g->rear+1)%q->size==q->front)
printf("Queue is Full\n");

else

{

g->rear=(q->rear+1)%q->size;
q->Q[g->rear]=x;

}

}

int dequeue(struct Queue *q)

{

int x=-1;

if(q->front==q->rear)
printf("Queue is Empty\n");

else

{

g->front=(g->front+1)%q->size;
x=0->Q[qg->front];

}
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return x;

}
void Display(struct Queue q)

{

int i=q.front+1;

do

{

printf("%d ",q.Q[i]);
iI=(i+1)%q.size;
Iwhile(i'=(q.rear+1)%q.size);

printf(*\n");

¥

int main()

{

struct Queue q;

create(&q,6);

printf("\nQueue elements are: \n");

/lenqueue Operation

enqueue(&q,10);

enqueue(&q,20);

enqueue(&q,30);

enqueue(&q,40);

enqueue(&q,50);

/lenqueue(&q,60);

Display(q);

//dequeue Operation

printf("dequeue element: %d \n",dequeue(&q));
printf(""After dequeue Queue elements are: \n");
Display(q);

return O;

¥

Input and Output Section:
Queue elements are:

10 20 30 40 50

dequeue element: 10

After dequeue Queue elements are:
20 3040 50
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8. WAP to scan a polynomial using linked list and add two polynomials.

Program:

//Polynomial addition using linked list
# include <stdio.h>

# include <stdlib.h>

struct node

{
float coef;
int expo;
struct node *link;
b
int display(struct node *ptr)
{
if(ptr==NULL)
{
printf("Empty\n");
return O;
¥
while(ptr'=NULL)
{
printf("(%.1fx"%d) + ", ptr->coef,ptr->expo);
ptr=ptr->link;
ks
printf("\b\b \n"); // \b\b to erase the last + sign
b
struct node *insert(struct node *start,float co,int ex)
{

struct node *ptr,*tmp;

tmp= (struct node*)malloc(sizeof(struct node));
tmp->coef=co;

tmp->expo=ex;

/list empty or exp greater than first one
if(start==NULL || ex>start->expo)
{

tmp->link=start;

start=tmp;

¥
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else

ptr=start;

while(ptr->link!=NULL && ptr->link->expo>ex)
ptr=ptr->link;

tmp->link=ptr->link;

ptr->link=tmp;

if(ptr->link==NULL) //item to be added in the end
tmp->link=NULL;

}

return start;

¥

struct node *enter(struct node *start)
{
int i,n,ex;
float co;
printf("How many terms you want to enter : ");
scanf("%d",&n);
printf("Enter each term with coeff and exp\n™);
for(i=1;i<=n;i++)
{
scanf("%f %d",&co,&ex);
start=insert(start,co,ex);

¥

return start;

¥

struct node *poly_add(struct node *p1,struct node *p2)
{
struct node *p3_start,*p3,*tmp;
p3_start=NULL,
if(p1==NULL && p2==NULL)
return p3_start;

while(pl!=NULL && p2!=NULL )
{

tmp= (struct node*)malloc(sizeof(struct node));
if(p3_start==NULL)
{

p3_start=tmp;

p3=p3_start;
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¥
else
{
p3->link=tmp;
p3=p3->link;
¥
If(p1->expo > p2->expo)
{
tmp->coef=pl->coef;
tmp->expo=pl->expo;
pl=pl->link;
b
else
if(p2->expo > pl->expo)
{
tmp->coef=p2->coef;
tmp->expo=p2->expo;
p2=p2->link;
¥
else
if(p1l->expo == p2->expo)
{
tmp->coef=pl->coef + p2->coef;
tmp->expo=pl->expo;
pl=pl->link;
p2=p2->link;
¥
by
while(p1!=NULL)
{

tmp= (struct node*)malloc(sizeof(struct node));
tmp->coef=pl->coef;

tmp->expo=pl->expo;

if (p3_start==NULL) /*poly 2 is empty*/

¢ p3_start=tmp;
p3=p3_start;

b

else

{
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p3->link=tmp;
p3=p3->link;
¥
pl=pl->link;
}
while(p2!=NULL)
{
tmp= (struct node*)malloc(sizeof(struct node));
tmp->coef=p2->coef;
tmp->expo=p2->expo;
if (p3_start==NULL) /*poly 1 is empty*/
{
p3_start=tmp;
p3=p3_start;

p3->link=tmp;
p3=p3->link;

b
p2=p2->link;

p3->link=NULL,;
return p3_start;

by

int main()

{
struct node *pl_start,*p2_start,*p3_start;
pl_start=NULL;
p2_start=NULL;
p3_start=NULL;
printf("Polynomial 1 :\n");
pl_start=enter(pl_start);
printf("Polynomial 2 :\n");
p2_start=enter(p2_start);
p3_start=poly_add(pl_start,p2_start);
printf("Polynomial 1is: ");
display(p1_start);
printf("Polynomial 2 is: ");
display(p2_start);
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printf("Added polynomial is : ");
display(p3_start);
return O;

¥

Input and Output Section:

Polynomial 1 :

How many terms you want to enter : 3

Enter each term with coeff and exp

1.25

254

43

Polynomial 2 :

How many terms you want to enter : 3

Enter each term with coeff and exp

26

12

10

Polynomial 1is: (1.2x"5) + (2.5x"4) + (4.0x"3)
Polynomial 2 is: (2.0x"6) + (1.0x"2) + (1.0x"0)
Added polynomial is : (2.0x"6) + (1.2x"5) + (2.5x"4) + (4.0x"3) + (1.0x"2)
+ (1.0x"0)

9. WARP to calculate factorial of a given no. (i) using recursion, (ii) using
iteration.

Program:
#include <stdio.h>
#include<conio.h>
[Nterative function definition
long ifact(int n){
long fact=1,i;
for(i=1;i<=n;i++){
fact=fact™*i;
}
return fact;
}
/IRecursion function definition
long rfact(int n){
//base condition
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iIf(n<=1){
return n;
}
/I Recrsive Procedure
else{
return n*rfact(n-1);

}
}
int main()
{ -
int n;
printf("Enter the number \n");
scanf("%d",&n);
/literative function call
printf("lteration Method: %d Factorial is %ld",n,ifact(n));
/lrecursion function call
printf("\nRecursion Method: %d Factorial is %ld",n,rfact(n));
getch();
return O;

Input and Output Section:

Enter the number

5

Iteration Method: 5 Factorial is 120
Recursion Method: 5 Factorial is 120
Enter the number

9

Iteration Method: 9 Factorial is 362880
Recursion Method: 9 Factorial is 362880
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10. WAP to display Fibonacci series (i)using recursion, (ii) using iteration.

Program:
#include <stdio.h>
#include<conio.h>
/Nterative function definition
void ifib(int n){
int a=0,b=1,c,i;
If(n<1){
printf("Fibonacci series : %d ",a);
¥
else if(n==1){
printf("Fibonacci series : %d %d ",a,b);
¥
else{
printf("Fibonacci series are: %d %d",a,b);
for(i=2;i<=n;i++){
c=a+b;
printf("* %d",c);
a=b;
b=c;
¥
by
¥

/IRecursion function definition
int rfib(int n){
/Ibase condition
if(n==0){
return O;
}
/Isecond base condition
else if(n==1){
return 1,
}
/IRecursive Procedure
else{
return rfib(n-2)+rfib(n-1);
}
}

int main()
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int n,result;
printf("Enter the number \n");
scanf("%d",&n);
[iterative function call
ifib(n);
[Irecursion function call
printf(*\nFibonacci series are :");
for(int i=0;i<=n;i++){
printf(" %d",rfib(i));
}
getch();
return O;
}
Input and Output Section:
Enter the number
10
Fibonacci seriesare: 0112358 13213455
Fibonacci seriesare: 0112358 13213455

Enter the number

1

Fibonacci series: 0 1
Fibonacci series are : 0 1

11.WAP to calculate GCD of 2 number (i) with recursion (ii) without
recursion.

Program:
#include <stdio.h>
#include<conio.h>
/Nterative function definition
int iged(int n,int m){
while(m!=n){
if(m>n){
m=m-n;
}
else{
n=n-m;

¥
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}

return m;
}
/IRecursion function definition
int rgcd(int n,int m){
/Ibase condition
If(n==m){
return n;
}
/I Recrsive Procedure
if(m>n){
return rgcd(m-n,n);

¥
¥

int main()
{
int a,b;
printf("Enter the two number \n");
scanf("%d%d",&a,&D);
/literative function call
printf("Iterative Method %d and %d GCD is %d ",a,b,igcd(a,b));
/[recursion function call
printf("\nRecursion Method %d and %d GCD is %d",a,b,rgcd(a,b));
getch();
return O;

¥

rgcd(m,n-m);

Input and Output Section:

Enter the two number

13117

Iterative Method 13 and 117 GCD is 13
Recursion Method 13 and 117 GCD is 13
Enter the two number

93131

Iterative Method 93 and 131 GCD is 1
Recursion Method 93 and 131 GCD is 1
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12.WAP to create a Binary Search Tree and include following operations
in tree: (a) Insertion (Recursive and lterative Implementation) (b)
Deletion.

(a) Binary Search Tree Insertion Operation (Recursive and lterative
Implementation):

Program:
#include<stdio.h>
#include<stdlib.h>
#include<conio.h>
struct Node{
struct Node *Ichild;
int data;
struct Node *rchild;
}*root=NULL,
void Insert(int key)
{
struct Node *t=root;
struct Node *r,*p;
if(root==NULL){
p=(struct Node *)malloc(sizeof(struct Node));
p->data=key;
p->Ichild=p->rchild=NULL;
root=p;
return ;
by
while(t!=NULL){
r=t;
if(key<t->data)
t=t->Ichild;
else if(key>t->data)
t=t->rchild,;
else
return;
¥
p=(struct Node *)malloc(sizeof(struct Node));
p->data=key;
p->lchild=p->rchild=NULL;

MIDNAPORE CITY COLLEGE 111



Bachelor of Computer Application Lab Manual Dept. of Pure and Applied Science

if(key<r->data) r->Ichild=p;
else r->rchild=p;

}
void Inorder(struct Node *p){

if(p){
Inorder(p->Ichild);
printf("%d ",p->data);
Inorder(p->rchild);

¥

}
struct Node * Search(int key){

struct Node *t=root;
while(t'=NULL){
if(key==t->data)
return t;
else if(key<t->data)
t=t->Ichild;
else
t=t->rchild;
}
return NULL;

¥

struct Node *RInsert(struct Node *p,int key){
struct Node *t=NULL,

if(p==NULL){
t=(struct Node *)malloc(sizeof(struct Node));
t->data=key;
t->Ichild=t->rchild=NULL;
return t;
}

if(key<p->data)
p->Ichild=RInsert(p->Ichild,key);

else if(key>p->data)
p->rchild=RInsert(p->rchild,key);

return p;

¥

int main(){
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struct Node *temp;
printf("lterative BST: \n");
Insert(10);

Insert(5);

Insert(20);

Insert(8);

Insert(30);

Inorder(root);

printf("\n");

temp=Search(30);
if(temp!=NULL){
printf("Element %d is Found \n",temp->data);
¥
else
printf("Element is not found \n");

printf("Recursive BST: \n");
root=RInsert(root,10);
Rlnsert(root,5);
Rlnsert(root,20);
RInsert(root,8);
Rlnsert(root,30);
Inorder(root);
printf(*\n");
temp=Search(20);
if(temp!=NULL){

printf("Element %d is Found \n",temp->data);
¥
else

printf("Element is not found \n");
getch();
return O;
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Input and Output Section:
Iterative BST:

58102030

Element 30 is Found
Recursive BST:
58102030

Element 20 is Found

(b) Binary Search Tree Deletion Operation (Recursive and Iterative
Implementation):

Program:
#include<stdio.h>
#include<stdlib.h>
#include<conio.h>
struct Node{
struct Node *Ichild;
int data;
struct Node *rchild;
}*root=NULL,;
void Insert(int key)
{
struct Node *t=root;
struct Node *r,*p;
if(root==NULL){
p=(struct Node *)malloc(sizeof(struct Node));
p->data=key;
p->lchild=p->rchild=NULL;
root=p;
return ;
}
while(t!=NULL){
r=t;
if(key<t->data)
t=t->Ichild;
else if(key>t->data)
t=t->rchild;
else
return;
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p=(struct Node *)malloc(sizeof(struct Node));
p->data=key;

p->Ichild=p->rchild=NULL;

if(key<r->data) r->Ichild=p;

else r->rchild=p;

¥

void Inorder(struct Node *p){
if(p{
Inorder(p->Ichild);
printf("%d ",p->data);
Inorder(p->rchild);

¥

}
[*struct Node * Search(int key){

struct Node *t=root;
while(t'=NULL){
if(key==t->data)
return t;
else if(key<t->data)
t=t->Ichild;
else
t=t->rchild;
¥
return NULL;
by
*/
struct Node *RInsert(struct Node *p,int key){
struct Node *t=NULL;
iIf(p==NULL){
t=(struct Node *)malloc(sizeof(struct Node));
t->data=key;
t->Ichild=t->rchild=NULL,;
return t;
¥
if(key<p->data)
p->Ichild=RInsert(p->Ichild,key);
else if(key>p->data)
p->rchild=RInsert(p->rchild,key);
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return p;
}
int Height(struct Node *p){
int x,y;
iIf(p==NULL) return 0;
x=Height(p->Ichild);
y=Height(p->rchild);
return x>y?x+1.y+1,
}
struct Node *InSucc(struct Node *p){
while(p && p->Ichild!=NULL)
p=p->Ichild;
return p;
}
struct Node *InPre(struct Node *p){
while(p && p->rchild!'=NULL)
p=p->rchild;
return p;
}
/[BST Delete from a Element
struct Node *Delete(struct Node *p,int key){
struct Node *q;
if(p==NULL)
return NULL;
if(p->Ichild==NULL && p->rchild==NULL){
if(p==root)
root=NULL;

free(p);
return NULL;
}

if(key<p->data)
p->lchild=Delete(p->Ichild,key);
else if(key>p->data)
p->rchild=Delete(p->rchild,key);
else
{
if(Height(p->Ichild)>Height(p->rchild)){
g=InPre(p->Ichild);
p->data=g->data;
p->lchild=Delete(p->Ichild,g->data);
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}

else{
g=InSucc(p->rchild);
p->data=g->data;
p->rchild=Delete(p->rchild,g->data);
by
}

return p;

¥

int main(){

printf("Iterative BST: \n");
Insert(10);

Insert(5);

Insert(20);

Insert(8);

Insert(30);

Inorder(root);
printf("\nAfter Iterative BST Delete Element: ");
Delete(root,5);
Inorder(root);

printf(*\n");

printf("Recursive BST: \n");
root=RInsert(root,10);
Rlnsert(root,5);
Rlnsert(root,20);
RInsert(root,8);
Rlnsert(root,30);
Inorder(root);
Delete(root,20);
printf("\nAfter Recursive BST Delete Element: ");
Inorder(root);

printf("\n");

getch();

return O;
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Input and Output Section:

Iterative BST:

58102030

After Iterative BST Delete Element: 8 10 20 30
Recursive BST:

58102030

After Recursive BST Delete Element: 58 10 30

13.WAP to create Binary Tree and display its pre-order, post-order and in-
order traversals Recursively.

Program:
#include <stdio.h>
#include <stdlib.h>
#include "Queue.h"
#include<conio.h>
struct Node *root=NULL;
void Treecreate()

{

struct Node *p,*t;
int Xx;

struct Queue q;
create(&q,100);

printf("Enter root value ");

scanf("%d",&x);

root=(struct Node *)malloc(sizeof(struct Node));
root->data=x;

root->lchild=root->rchild=NULL;
enqueue(&q,root);

while(lisEmpty(q))

{

p=dequeue(&q);

printf("enter left child of %d ",p->data);
scanf("%d",&x);

if(x1=-1)

{

t=(struct Node *)malloc(sizeof(struct Node));
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t->data=x;
t->Ichild=t->rchild=NULL;
p->Ichild=t;

enqueue(&q,t);

by

printf("enter right child of %d ",p->data);
scanf("%d",&X);

if(x!=-1)

{

t=(struct Node *)malloc(sizeof(struct
Node));

t->data=x;
t->Ichild=t->rchild=NULL;
p->rchild=t;

enqueue(&q,t);

b

¥
b
void Preorder(struct Node *p)
{

if(p)

{

printf("%d ",p->data);
Preorder(p->Ichild);
Preorder(p->rchild);

}

}

void Inorder(struct Node *p)
{

if(p)

{

Inorder(p->Ichild);
printf("%d ",p->data);
Inorder(p->rchild);

}
}
void Postorder(struct Node *p)
{

if(p)

{
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Postorder(p->Ichild);
Postorder(p->rchild);
printf("%d ",p->data);
by

}

int main()

{

Treecreate();

printf(" \nIn order ");
Inorder(root);

printf(" \nPre order );
Preorder(root);
printf("\nPost Order "),
Postorder(root);
getch();

return O;

¥

Queue Header File
#include<stdio.h>
#include<stdlib.h>
struct Node

{

struct Node *Ichild;
int data;

struct Node *rchild;
Y

struct Queue

L

int size;

int front;

int rear;

struct Node **Q;

j
void create(struct Queue *q,int size)
{ . -
g->size=size;
g->front=g->rear=0;
g->Q=(struct Node **)malloc(q->size*sizeof(struct
Node *));
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¥

void enqueue(struct Queue *q,struct Node *x)
{

If((q->rear+1)%q->size==q->front)
printf("Queue is Full");

else

{

g->rear=(g->rear+1)%q->size;
q->Q[g->rear]=x;

}

}

struct Node * dequeue(struct Queue *q)

{
struct Node* x=NULL;

if(g->front==q->rear)
printf("Queue is Empty\n");
else

{
g->front=(g->front+1)%q->size;
x=0g->Q[qg->front];

¥

return x;

¥
int isEmpty(struct Queue q)

{

return g.front==q.rear;

¥

Input and Output Section:

Enter root value 10
enter left child of 10 20
enter right child of 10 30
enter left child of 20 40
enter right child of 20 50
enter left child of 30 60
enter right child of 30 70
enter left child of 40 80
enter right child of 40 90
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enter left child of 50 -1
enter right child of 50 -1
enter left child of 60 -1
enter right child of 60 -1
enter left child of 70 -1
enter right child of 70 -1
enter left child of 80 -1
enter right child of 80 -1
enter left child of 90 -1
enter right child of 90 -1

In order 80 40 90 20 50 10 60 30 70
Pre order 10 20 40 80 90 50 30 60 70
Post Order 80 90 40 50 20 60 70 30 10

14.WAP to create Binary Tree and display its pre-order, post-order and in-
order traversals Iteratively.

Program:

#include <stdio.h>
#include <stdlib.h>
#include "Stack.h"
#include "Queue.h"
#include<conio.h>
struct Node *root=NULL;
void Treecreate()

{

struct Node *p,*t;
int Xx;

struct Queue q;
create(&q,100);

printf("Enter root value ");

scanf("%d",&x);

root=(struct Node *)malloc(sizeof(struct Node));
root->data=x;

root->Ichild=root->rchild=NULL;
enqueue(&q,root);

while(tisEmpty(q))
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{

p=dequeue(&q);

printf("enter left child of %d ",p->data);
scanf("%d",&x);

if(x1=-1)

{

t=(struct Node *)malloc(sizeof(struct Node));
t->data=x;

t->Ichild=t->rchild=NULL;

p->Ichild=t;

enqueue(&q,t);

by

printf(“enter right child of %d ",p->data);
scanf("%d",&x);

if(x!=-1)

{

t=(struct Node *)malloc(sizeof(struct
Node));

t->data=x;

t->Ichild=t->rchild=NULL;

p->rchild=t;

enqueue(&aq,t);

by

}

}
void IPreorder(struct Node *p){

struct Stack stk;
Stackcreate(&stk,100);
while(p || isSEmpty(stk))
{

if(p){
printf("%d ",p->data);

push(&stk,p);
p=p->Ichild;
¥

else{
p=pop(&stk);
p=p->rchild,;

¥
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}
void lInorder(struct Node *p){

struct Stack stk;
Stackcreate(&stk,100);
while(p || lisEmpty(stk))
{

if(p){

push(&stk,p);
p=p->Ichild;

¥

else{
p=pop(&stk);
printf("%d ",p->data);
p=p->rchild;

¥

int main()
{

Treecreate();

printf(" \nin order "),
IInorder(root);

printf(" \nPre order "');
IPreorder(root);

getch();
return O;

¥

Stack Header File
#include <stdio.h>
#include <stdlib.h>
/l#include "Queue.h"
struct Stack

{

int size;

int top;

struct Node **S;
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2

void Stackcreate(struct Stack *st,int size)

{ - -

st->size=size;

st->top=-1;

st->S=(struct Node **)malloc(st->size*sizeof(struct Node *));

¥

void push(struct Stack *st,struct Node *x)
{

if(st->top==st->size-1)

printf("Stack overflow\n");

else

{

st->top++;

st->S[st->top]=x;

¥

¥
struct Node *pop(struct Stack *st)

{

struct Node *x=NULL,;
if(st->top==-1)

printf("Stack Underflow\n");
else

{

x=st->S[st->top--];

by

return x;

¥

int isSEmpty(struct Stack st)

{

if(st.top==-1)
return 1;

return O;

¥
int isFull(struct Stack st)

{

return st.top==st.size-1;
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}
Input and Output Section:

Enter root value 10
enter left child of 10 20
enter right child of 10 30
enter left child of 20 40
enter right child of 20 50
enter left child of 30 60
enter right child of 30 70
enter left child of 40 -1
enter right child of 40 -1
enter left child of 50 -1
enter right child of 50 -1
enter left child of 60 -1
enter right child of 60 -1
enter left child of 70 -1
enter right child of 70 -1

In order 40 20 50 10 60 30 70
Pre order 10 20 40 50 30 60 70

15.WAP to implement Diagonal Matrix using one-dimensional array.

Program:
#include<stdio.h>
#include<conio.h>
struct Matrix

{

int A[10];

intn;

}

void Set(struct Matrix *m,int i,int j,int x)
{

if(i==j)
m->A[i-1]=x;

¥

int Get(struct Matrix m,int i,int j)

{
if(i==))
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return m.A[i-1];
else
return O;

}
void Display(struct Matrix m)

{
inti,j;
for(i=0;i<m.n;i++)
{
for(j=0;j<m.n;j++)
{
if(i==)
printf("%d ", m.A[i]);
else
printf("0 ");

¥
printf("\n");

by

¥

int main()

{

/lclrscr();

struct Matrix m:;
m.n=4;

Set(&m,1,1,5);
Set(&m,2,2,8);
Set(&m,3,3,9);
Set(&m,4,4,12);

/] printf("%d \n",Get(m,3,3));
Display(m);

getch();

return O;

¥
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Input and Output section:
5000

0800

0090

00012

16.WAP to implement Lower Triangular Matrix using one-dimensional
array.

Program:

#include<stdio.h>

#include<conio.h>

#include<stdlib.h>

struct Matrix

{

int *A;

intn;

j

void Set(struct Matrix *m,int i,int j,int x)
{

if(i>=))
m->A[m->n*(j-1)+(j-2)*(j-1)/2+i-]]=X;
}

int Get(struct Matrix m,int i,int j)

{

if(i>=))

return m.A[m.n*(j-1)+(j-2)*(j-1)/2+i-j];
else

return O;

}
void Display(struct Matrix m)

{

inti,j;

for(i=1;i<=m.n;i++)

{

for(j=1;j<=m.n;j++)

{

if(i>=)

printf("%d ", m.A[m.n*(j-1)+(j-2)*(j-1)/2+i-j]);
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else

printf("0 ");

by

printf("\n");

by

¥

int main()

{

struct Matrix m;
inti,j,x;

/lclrscr();
printf("Enter Dimension");
scanf("%d",&m.n);

Dept. of Pure and Applied Science

m.A=(int *)malloc(m.n*(m.n+1)/2*sizeof(int));

printf(“enter all elements");
for(i=1;i<=m.n;i++)

{

for(j=1;j<=m.n;j++)

{

scanf("%d",&Xx);
Set(&m,i,j,X);

by

by
printf(*\n\n");
Display(m);

getch();
return O;

¥

Input and Output Section:
Enter Dimension

4

enter all elements

1020 30 40

1122 3344

12 24 36 48

1326 39 52

Lower Triangular Matrix are:
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10 0 O
1122 0
12 24
13 26

0
0
36 0
39 52

17.WAP to implement Upper Triangular Matrix using one-dimensional
array.

Program:

#include<stdio.h>

#include<conio.h>

#include<stdlib.h>

struct Matrix

{

int *A;

int n;

j

void Set(struct Matrix *m,int i,int j,int x)
{

if(i<=j)
m->A[m->n*(i-1)-(i-2)*(i-1)/2+]}-1]=X;
}

int Get(struct Matrix m,int i,int j)

{

if(i<=j)

return m.A[m.n*(i-1)-(i-2)*(i-1)/2+j-i];
else

return O;

¥
void Display(struct Matrix m)

{

inti,j;

for(i=1;i<=m.n;i++)

{

for(j=1;j<=m.n;j++)

{

if(i<=j)

printf("%d ",m.A[m.n*(i-1)-(i-2)*(i-1)/2+(j-1)]);
else

printf("0 ™);
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by

printf("\n");

by

¥

int main()

{

struct Matrix m;

inti,j,x;
/lclrscr();

printf("Enter Dimension \n");
scanf("%d",&m.n);

m.A=(int *)malloc(m.n*(m.n+1)/2*sizeof(int));
printf("enter all elements \n");
for(i=1;i<=m.n;i++)

{

for(j=1;j<=m.n;j++)

{

scanf("%d",&Xx);
Set(&m,i,j,X);

by

¥

printf(*\n");

printf("Upper Triangular Matrix are: \n");
Display(m);

getch();
return O;

¥

Input and Output Section:
Enter Dimension

4

enter all elements

1020 30 40

11121314

21222324

31323334
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Upper Triangular Matrix are:
10 20 30 40

0 12 13 14

0 0 23 24

0 00 34
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